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a

Area of trapezium = % (a+ b)h h

\

Volume of prism = (area of cross-section) x length
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1 Jomo and Kwame took part in a5km race.
This graph represents Jomo’s run.
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(a) Kwame set off at the same time as Jomo.
Heran at a constant speed and took 19 minutes to complete the race.

Add astraight line to the graph to represent his run. [2]
(b) Kwame overtook Jomo during the race.

How far had they each run at that time?
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Runner beans cost £1-70 per kilogram.

Paul bought 2-4kg of runner beans.
He paid with a £5 note.

Work out how much change he should get.
You must show your working.
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(a) Reflect rectangle A in the x-axis.
Label theimage C. [1]

(b) Trandate rectangle A by 4 unitsleft and 3 units down.
Label theimage D. [1]

(c) Rectangle B isan enlargement of rectangle A.
Compl ete these statements.
(i) Thescalefactor of thisenlargement is .......cccccceeevivrienenenne : [1]

(i) The centre of enlargement is (.............. ) e ). [1]
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4  The police recorded the speeds, in miles per hour, of 80 cars passing through roadworks.
Their speeds are summarised in the table below.

Speed (vmph) |35<Vv<40{40<v<45/45<v<50|50<v<5555<v=<60
Freqguency 12 39 18 7 4
(&) Draw afrequency diagram to show thisinformation.
A
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&
=
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Speed (mph)

(b) Write down the modal class for these speeds.
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(c) Oneof these 80 carsis picked at random.
What is the probability that its speed is

(i) 40mph or less,

()] () I [1]
(i)  more than 50mph?
(1) I [2]
7]
5 Work out.
2,3
5 4
Give your answer as afraction in its ssimplest form.
.......................................... [2]
2]

TURN OVER FOR QUESTION 6
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6 Solve.

@ 2x-7=12

(b) 7x+13=2x+3
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